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Lesson 20: Systems of Egquafions

1| Selve. the systems using ;@Lééﬁfw&fzf'o?} -
_|elimination, Classify them,
, ‘(a> g Ax*t3y=5  Subshifution: X - \/ —-{ ’>_2< : \/"'1

x-y =l Then N\/*”*Sv =5 /x= 5+1 o

2 L o 3 =5
MZZyi*’ 5\/1"1
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el E -
D@-p C/OVLQIS')LQVHL IV‘dMJ(’V{((!ﬁlf Oﬂ& ﬁﬁluh()ﬁ | |
(/MCS m @?&C'IL m one f/ace.)

ex+ay =13

h(@g 3x+y=C  Elminabion -a(suey =6

bx+2y=12 T oo

Selufion ' O=0 |
Obc (/onstshwd’ O&Wff.mf’ IV\ QVHWL& SOUﬁdM

( Hie lines are #Lesam)
- Gx +Ryw220 '

@X*o?y I ]

Sol u.}wﬂ Q=2 ]
0@30 J VLC,OVIS‘S{_Z/VUL [\)o SO MJL/OV’)
U'MS are. parclel am&é never Mf,Bf’Vecf)

| Solie. the system § xfry2= 4 (onde withmdisd)
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N I I ar () Y25 B
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celilions : (L0 *ﬂ (=T Th

?'3 possib,| 1‘163 @r on — -l inear sys*e/ms/

(1) ea L{‘QC >O 2 SO/LL?LIOVI‘< Um.e, ‘DGLS"*&S M(‘Oug,kc_mc(e)
C&) Aﬁ Z{ac, O { so VUL?OVI (/;m I's %an%/e,n{- b CIY‘(,/Q)
(3) b2-lac <O ro solwhon  (Hay do not in fersect)

Ex.3dFind all wlues of k so that the sysfem has

() One Selution
(b} Tu)ﬁ 50/&(}129%6
(&) No solubon
g xa;\/a_ -
Yy = Xtk
‘Q*- C><+/<)Q =
&+ x 2 +2/<x*k"z”

) ;)x&,z- 525<><+ }42 ;z 0

0:3, b=ak, c=k?- 0 o bi-Hae = () (m(w 31

'--4ka
k2| = O =t - S |
G =4k? («) x=-d, &
o Y =3 - (é> (-3, ) : .
ot *2*,’§m (c) (-0,-2) V( Q,00)
—_— ? + fk/ — - ® +e,
ngosbln-;’f dsel'n ;i no sl'n K



Lesson 30 Bamples

1. Agpateship sets out for atest ride on the ocean going against the current (upstream) 7 milesand then
turning around and returningto Atlantis. The trip against the current (upstream) requires 30 minutes
and the trip with the current (downstream) requires 16 minutes. Find the speed of the gateship in still
water and the speed of the current in miles per hour (mi/h).

et x = 5,9@.@,09 of guteship
v = speed of current.

@ua,w(ﬂ%{ = yate * fime
Upshream T = Cx—yB('fa‘:) = 4= XY
- (x+y)(zs) = 2ea5=x*

40,95 = Ax
A AT X

4 = 20 -

2. Michael Scott works a total of 50 hours per week at two jobs. His total pay is $480.25 before taxes. He
works 35 hours at Dunder-Mifflin and 15 hours at the Lipephedrine Diet Pill Company (LDPQO. If his
hourly rate at Dunder-Mifflin is $2.65 more than his hourly rate at LDPC, find Michael’s pay per hour at
each job.

LC’JL X = v\a{‘a at DM

Dovons oo "l

y = rafe at LOPC.
@uamﬁf\/ rafe X fime
DM 35 X
| DPC 15‘7/

Lgo,25=35x by

TO?L&L‘ ’

ﬁ@iaﬁ!ov'\i X =Y +d. &5

N\ = ’ L/O
480.35 = B5(y+ 2.6 5) +I5y %[?Wwﬁ
430,25 =50y + 42,75 [ = #10.90 \
33150 =50y |y =975

‘s =y



3. Ronan Dexard Teyla Errmagan work together evacuating a village fromthe Wraith. The mission
required 7.5 hours to corrplete. In an identical village on the same planet, Ronan and Teyla worked
together for 4.6 hours before Ronan had to leave to rescue Rodney. Teyla completed the village
evacuation after 6.5 more hours. Working alone, how longwould it take Ronan and Teylato evacuate a
village of this size? 1 village

— o b~ Ronan = d
= s @r (Qoncu/? = te S X i:!r,au,ri
Let x = h Te whe B Teyla =& willege

N = hours tor Q-—\/la lege
s o Hime
QM&VHLHLV . r\a%@ IX<7V5> = R N . P
! e , = ==
Tz%eﬂm'”f [ \/{Ha%@, = (x v > 5 X N

Ly .. ;@_: %/T_<65> =5 58 _ /

Tust Teyla? (1= 72) = 5 415 ~ Y
- v = 16,3
por-ti ov\%j;ﬁ/wr / ‘.
(8] rﬂmww -
f \ i i :
; | X =15, ours |
O' © 74 - 4;(' = X i } g B S s w‘\
4. What quantities of Trinium 98.8% pure and 84.8%pure must be mixed together to gve 17.5 grams of
Trinium 89.9%pure?
S e figede o e Y
y = bd//*am_s s x4, 870 75—y = X
@W‘OV‘VH/ 22 P P(M/'e/ Si'lVQY‘ .
(11,5 (249 = HEEE. T - 248 y
, +, 342’7/

\
(5,M325 = 9g8(11.57y)
15,7325 = 17.29 = O Hy

oty = [ 5575 o
- 5 [ x =G e
= .14 |

! | N = H.!%
« =|1.5=1l125 — 2 -

Xz (. 275



